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2B BMAEZNFREERNEMIUETSE No. 1

RETZEEAT BT EER s
= . 7=t = 3 L 3 7 ié;i -5
® H BOF | ye wm mm 28 | BB HE M o | EUEEE WE
[ERZAR %
| BETH 1] K 75,264,742 1 K 79,273,259 4,008,517 H4%H
II| EXEE LS 1] X 1,957,426 1 &K 1,957,426 0
RN X 77,222,168 81,230,685 4,008,517 H&%E
Him g
[| B 1 K 2,463,623 1 =X 2,552,480 88,857 |HE%H
0| BEHE 1 3L 6,073,302 1 =K 6,254,102 180,800  H9%E
— X B 1 K 8,601,636 1 =X 9,011,018 409,382 HE%H
5w 3 17,138,561 17,817,600 679,039 H4%E
EFF 94,360,729 99,048,285 4,687,556 HE%A
FEraEE (T3 M) SREEST 11U e 94,360,000 99,048,000 4,688,000 HE%A
THE RS Y%A 7,548,800 7,923,840 375,040 HE%HE
wER (LEE) 101,908,800 106,971,840 5,063,040 H4%E




2 MASZIEREBRSENEhSETISE No. 2
RETE EAT REEFR a3
® H BOF | ye wm mm Yy g B BE o | EUEEE WE
I |BETSE
Al |FhEE SN s T 2V 51,988,051 = 55,914,978 3,926,927 HA%H
A2 | -REERAWETF = 23,276,691 = 23,358,281 81,590 \HE%H
Gt 75,264,742 79,273,259 4,008,517 H4%H




2 MASZIEREBRSENEhSETISE No. 3
RETE EAT RETERR .
. - 1EiEEE
® H wmE g B B s g B B o | EUEEE WE
A1 (5B SNEEERIEIE
1 |EERGETE 1 K 4,414,257 1 =X 4,414,017 -240 JRAHE
2 Pk LE 1 = 1,314,393 1 = 1,314,393 0
3 |BEE&ETE 1 K 33,149,785 1 =X 33,152,146 2,361 HE%H
4 |FMEERIE T E 1 = 4,565,998 1 = 8,345,438 3,779,440 |Ha%H
5 |BEKETHE 1 X 1,895,070 1 XK 1,895,070 0
6 |Fofh T3 1 = 4,958,955 1 = 5,098,955 140,000 HE%H
T | T 1 X 85,390 1 XK 85,390 0
8 |- sy 1 = 1,604,203 1 = 1,609,569 5,366 HI%E
&t 51,988,051 55,914,978 3,926,927 HA%H




2 MASZIEREBRSENEhSETISE No. 4
RETEEAI RETERR
& B ] = - o - . _ o - . ES|BEE K&
= B B4 {h +%8 = B B {h +%8
A2 |BETY - REEXHRUEIE
1 |EERGETE 1 K 1,944,280 1 XK 1,944,280 0
2 |[BEdELE 1 = 14,138,476 1 = 14,138,476 0
3 |NEKETHE 1 K 1,592,846 1 XK 1,602,676 9,830 |HE%H
4 |[BEXETE 1 = 643,775 1 = 643,775 0
5 |FofTEH 1 K 2,573,670 1] =X 2,573,670 0
6 |MEIRER (R T 1 K 124,810 1 = 196,570 71,760 HE%E
7T s 1 K 2,258,834 1 XK 2,258,834 0
&t 23,276,691 23,358,281 81,590 HE%H




